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EX0 N i HIVP (& #) HIVP(R) HIVP(£1%) B Rovakie VAT VEF VA & 45° TILARI0° Frv7 F—2 eSARVIVIN ZiEkiE | ERBAYS | ZE(PVCHR) | SVEWIA)| A-4-124Y | RiEKE | 44K 42
Eilial=E 1) R ; O& m (WS m O& m AExfK | S| OE | B OE | E%K| OF | 6% O | B% | 0% | @%| Of |@#%| x0F | @%| 0% | @& | 0% | % 0% | B4 | 0% | B2 0% | @& | 0% | @5 0% | #%
1 =254 20 | 20 1.0] 20 20 1.0 100 % 20 1 20 1 20 1
2 25 20 | 20 1.0] 20 20 1.0 100x 20 1 20 1 20 1
3 & 13 | 20 1.0] 20 20 1.0 100x 20 1 20 1 20 1
4 Zik 13 | 50 1.7 50 1.0| 50 2.7 100 x50 1 50 1 50 2 50 2
5 & 20 | 20 1.0] 20 20 1.0 100x 20 1 20 1 20 1
6 & 20 | 20 1.0] 20 20 1.0 100x 20 1 20 1 20 1
7 25 20 | 20 1.0] 20 20 1.0 100x 20 1 20 1 20 1
8 25 20 | 20 24| 20 20 2.4 100x 20 1 20 1 20 1 20 1
9 25 20 | 20 24| 20 20 2.4 100x 20 1 20 1 20 1 20 1
10 25 25 | 25 24| 25 25 2.4 100 x 25 1 25 1 25 1 25 1
11 AR 20 | 25 24| 25 25 2.4 100 x 25 1 25 1 25 1 25 1
12 Zik 20 | 20 49| 20 1.0| 20 5.9 100x 20 1 20 1 20 2 20 2
13 AR 20 | 20 1.0 20 20 1.0 100x 20 1 20 1 20 1
14 zik 20 | 20 21| 20 1.0| 20 31 100x 20 1 20 1 20 2 20 2
15 AR 13 | 20 6.0 20 20 6.0 100x20 1 20 1 20 1 20 1
16 A—%K— | 20 | 25 2.8| 25 10| 25 3.8 100 % 25 1 25 1 25 2 25 6 25x20 | 1 25 1 25 1
20 1.0| 20 1.0 20 1 20 2 20 2 20 1 20 1
17 Zik 20 | 25 2.8| 25 1.0 25 3.8 100 x 25 1 25 1 25 2 25 2 25x20 | 1
18 AR 20 | 20 1.0 20 0.0{ 20 1.0 100x 20 1 20 1 20 1
19 A—%&— | 20 | 20 2.8| 20 2.0{ 20 4.8 100x 20 1 20 1 20 4 20 8 20 1 20 1 20 2 20 1 20 1
20 A—Z— | 20 | 25 13.0| 25 10| 25 14.0 100 % 25 1 25 1 25 25 7 25x20| 1 25 1 25 1
20 1.0| 20 1.0 20 1 20 2 20 2 20 1 20 1
21 Zik 20 | 20 2.8| 20 2.0 20 4.8 100x20 1 20 1 20 2 20 2
22 A—%&— | 20 | 20 2.8| 20 2.0 20 4.8 100x20 1 20 1 20 4 20 8 20 1 20 1 20 2 20 1 20 1
23 A—%&— | 20 | 20 2.8| 20 2.0 20 4.8 100x20 1 20 1 20 4 20 8 20 1 20 1 20 2 20 1 20 1
24 AR 20 | 20 22| 20 0.0{ 20 2.2 100x20 1 20 1 20 1 20 1
25 Zik 20 | 20 2.8| 20 1.0| 20 3.8 100x20 1 20 1 20 2 20 2 20 1 20 1
26 AR 20 | 20 22| 20 0.0{ 20 2.2 100x20 1 20 1 20 1 20 1
27 AR 20 | 20 22| 20 0.0{ 20 2.2 100x20 1 20 1 20 1 20 1
28 Zik 20 | 20 2.8| 20 1.0| 20 3.8 100x20 1 20 1 20 2 20 2 20 1 20 1
29 Zik 20 | 20 2.8| 20 1.0 20 3.8 100x20 1 20 1 20 2 20 2 20 1 20 1
30 Zik 20 | 20 3.2| 20 1.0 20 4.2 100x20 1 20 1 20 2 20 2 20 1 20 1
31 53 20 | 20 22| 20 0.0] 20 2.2 100x20 1 20 1 20 1 20 1
32 53 20 | 25 22| 25 0.0] 25 2.2 100 x 25 1 25 1 25 1 25 1
33 20 | 20 1.0] 20 0.0] 20 1.0 100x20 1 20 1 20 1
34 20 | 20 2.8| 20 1.0 20 3.8 100x20 1 20 1 20 2 20 2 20 1 20 1
35 20 | 20 22| 20 0.0] 20 2.2 100x20 1 20 1 20 1 20 1
36 BEER 20 | 20 22| 20 0.0] 20 2.2 100x20 1 20 1 20 1 20 1
37 BEER 20 | 20 1.0] 20 0.0] 20 1.0 100x20 1 20 1 20 1




EX0 N i HIVP (& #) HIVP(R) HIVP(£1%) B Rovakie VAT VEF VA & 45° TILARI0° Frv7 F—2 eSARVIVIN Zibkig | ERELYR| ZE(PVCH) SVE F=g-1z4y | RIEKAE | A-4-F 99
Eilial=E 1) R ; O& m (WS m O& m AExfK | S| OE | B OE | E%| OF | 6% O | B% | 0% | @%| Of /%] x0F | #%| 0% | @& | 0% | B% | 0% | @4 | 0% | B2 0% | @% | 0% | @5 0% | #%

38 =254 20 | 20 22| 20 0.0] 20 2.2 100 % 20 1 20 1 20 1 20 1

39 =254 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

40 25 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

41 & 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

42 & 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

43 & 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

44 & 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

45 25 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

46 25 20 | 20 23| 20 0.0] 20 2.3 75 %20 1 20 1 20 1 20 1

47 25 20 | 20 23| 20 0.0] 20 2.3 75 %20 1 20 1 20 1 20 1

48 25 20 | 20 1.0] 20 0.0] 20 1.0 75 %20 1 20 1 20 1

49 AR 20 | 20 23] 20 0.0{ 20 23 75x20 1 20 1 20 1 20 1

50 SV 20 | 30 7.7] 30 0.0{ 30 77 100 % 30 1 30 1 30 2 30 1 30 1

51 Zik 20 | 25 33| 25 10| 25 4.3 75%25 1 25 1 25 2 25 2 25x20 | 1 25 1 25 1

52 AR 20 | 20 23] 20 0.0{ 20 23 75x20 1 20 1 20 1 20 1

53 Zik 20 | 25 33| 25 10| 25 4.3 75x25 1 25 1 25 2 25 2 25 1 25 1

54 AR 20 | 20 1.0 20 0.0{ 20 1.0 75 %20 1 20 1 20 1

55 BEE% 20 | 20 23] 20 0.0{ 20 23 75x20 1 20 1 20 1 20 1

56 BEEk 20 | 20 1.0 20 0.0{ 20 1.0 75 %20 1 20 1 20 1

57 AR 20 | 20 23] 20 0.0{ 20 23 75x20 1 20 1 20 1 20 1

58 Zik 20 | 20 33| 20 1.0| 20 4.3 75x20 1 20 1 20 2 20 2 20 1 20 1

59 AR 20 | 20 23] 20 0.0{ 20 2.3 75x20 1 20 1 20 1 20 1

60 Zik 13 | 25 33| 25 10| 25 4.3 75x25 1 25 1 25 1 25 2 25 1 25 1

61 AR 20 | 20 1.0 20 0.0{ 20 1.0 75x20 1 20 1 20 1

62 Zik 13 | 25 27| 25 10| 25 3.7 75x25 1 25 1 25 2 25 2 25 1 25 1

63 AR 20 | 20 23] 20 0.0{ 20 2.3 75x20 1 20 1 20 1 20 1

64 A== 13 | 20 271 20 1.0| 20 3.7 75x20 1 20 1 20 2 20 6 20x13| 1 20 1 20 1 13 2 13 1 13 1

10| 13 1.0 13 1 13 2

65 A—%&— | 20 | 20 20 2.0 20 2.0 20 4 25x20| 1 20 1 20 1 20 2 20 1 20 1
66 Zik 20 | 25 33| 25 10| 25 4.3 75x25 1 25 1 25 2 25 2 25 1 25 1

67 A—%&— | 20 | 20 20 2.0 20 2.0 20 4 25x20| 1 20 1 20 1 20 2 20 1 20 1
68 53 20 | 20 3.8| 20 0.0] 20 3.8 100x20 1 20 1 20 1 20 1

69 BEER 20 | 20 3.8| 20 0.0] 20 3.8 100x20 1 20 1 20 1 20 1

70 Zik 20 | 25 12| 25 1.0 25 2.2 100 x 25 1 25 1 25 2 25 2 25x20 | 1 25 1 25 1

71 53 20 | 20 3.8| 20 0.0] 20 3.8 100x20 1 20 1 20 1 20 1

72 BEER 20 | 20 3.8| 20 0.0] 20 3.8 100x20 1 20 1 20 1 20 1

73 20 | 20 1.0] 20 0.0] 20 1.0 100x20 1 20 1 20 1

74 20 | 20 1.0] 20 0.0] 20 1.0 100x20 1 20 1 20 1

75 BEER 20 | 20 1.0] 20 0.0] 20 1.0 100x20 1 20 1 20 1

76 BEER 20 | 20 1.0] 20 0.0] 20 1.0 100x20 1 20 1 20 1

7 BEER 20 | 25 1.0] 25 0.0] 25 1.0 100 x 25 1 25 1 25 1

B 176.5 34.0 210.5 75 75 81 91 51 2 6 20 1 20 1 16 8 8
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HIVP (i 2%) HIVP(R) HIVP(£:4%) H FL4okig i sE | vao b | mEes | zakee | rv s F—X BZEWE | Zibkie |EAntuR| ZEPVCH) | SVEMIE)| A4-1oty | RIEKiE | A4F R
o& m oz m o m AExfEK | @] O | B O | /% O | E% | Of | @E% | O | #%| O | #%| xOf | #% | O | @% ) O | /8% | 0% | @E% | Of | @ | 0% | #% | O | @% | O2F | /8%
”'(ggf 1765 | m | 13 13 10 13 1.0 13 1 13 2]13] 0 2013 1 [ 13| o |13 o |13 o[ 13 o3| 2|13 1]13]1
VAT MEE 381 m | 20| 1234 20 230 20 | 1464 | 75%20 21| 20 | 60| 20] 56 20 | 60 | 20 | 47 [ 20x20| o [25x20| 5 [ 20| 12| 20| o | 20| 12| 20| o [ 20| 14| 20| 7 [2]| 7
HETEE 2146 | m | 25 437 25 9.0 25 527  75%25 5 25 | 13| 25| 20 25 | 27 | 25 | 4 |25%20] 2 25| 8|25 of25] 8|25 0|25 0|25 0]2] 0
B 51| AT | 30 77| 30 00| 30 77| 75%30 0 30 1 ]3] 2 30| o3| o[30x3] o 30 o3| 1]3 ] o0of3]1[3]o0o]|3]o0][3]o0
Zik 17| mrr | 40 00| 40 0.0 40 00| 7540 0 40 04| o 20 | o |40 | o |40xa0] 0 20| o4 | o|a] o4 ]| o4 ofasa]|ofa]|o
A—5— 8| AR | 50 17| 50 10| 50 27| 75x50 0 50 1 {50 2 50 | 2 | 50| o [s0x50] o 50 [ o [50| o[s0| of[s ]| ofs][of|s]|o|s]|o
Y 1| ER7 100%x20 | 39
100 %25 8
13) 1 100 %30 1
2| 7 100 x 40 0
25 100 x50 1
A—5—
30
40
50
B 1765 | = 340 = 2105 5 G 75 | &t | 81 ot | s |51 2 B 6 | 5| 2]z HENERE 1| | w6] | 8 || s
|13 5| AT
* o0 63| AT
=
- 25 1| AT
= | 30 of @At
T |z 69| AT




T A7 7 VNEKEHEE
3cm 0.078
4cm 0.104
ocm 0.130 2,792.40 3.6301
6cm 0.152
7cm 0.174
10cm 0.240
I5cm 0.350
19cm 0.438
3 2792.40 3.6301
B0 3.63
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No. T8 R HE T E R K ETIER(M) | RRERM) |XEMERM)| E-E5F) | ZEEW1) (]

1 TILI KRR H=2.0 1 1.5 0.164
B 0.164

HEE : 2&F7/R

ERRRMAR [ RIR W=0.333m H=2.00m t=0.04m
ek s |W=0.1156m H=2.00m t=0.08m
IS L= 1.260 m




